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PART A - PHYSICS

1.  Sky appears blue due to 1. amer 9 4 ¥ | &R Aiar fdws < 3 -
(A) Dispersion (A) faergoy
(B) Scattering of light (B) UHTT BT Yo
(C) Atmospheric refraction (C) araraxofiy argacd+
(D) Reflection (D) WRTar
2. A converging beam incident on the interface of two 2. U ARG Yo (ETgER &1 AEMT (ST Sraac-ih
media of refractive indices p, and p, as shown in A p, TATp, 8, b Aeqe uR auferd gar g | afe p,
figure. If u; > p,, then > Hz?ﬁ —
\_/- \_/-
v -:‘:,. - v _ =
: : A) fbrot C& IWR ARG
(A) The rays of beam will converge above the point C @) R R
. . (B) favr fdg C & < rfeRa gifl
(B) The rays of beam will converge below the point C _ _
(C) The rays of beam become parallel (©) fax _ HHIIY BT ST
(D) The rays of beam will meet at point C (D) forxot farg C R arferaRa =it
3. What is the equivalent resistance between P and Q in 3. POATQd HeA oA URE S BT —
the following network?
R P "
P
R
R
—Q
- —Q R
3R SR R 4R
3R 5R R 4R (A) 5 (B) B3 © 5 (D) =
A— B Oz O _
5 2 5 5 4. auf & 9 SEY del WS <ar g —
4. After shower of rain, a rainbow is seen (A) T § FE W (B) g @ RG
(A) Anywhere in the sky (B) Towards the sun (C) g @ fauRa oiR (D) Gk & a8
(€) Opposite to the sun (D) After sunset 5. AR & yarT 3R A ABC & a8 AB W
5.  In figure shown, a light ray is incident on face AB of Ar BT 2 | e A N & T 30°
prism ABC and reaches to face AC at an angle of 30° ! :d T ¥TE ACTR e T 30
with the normal. The angle of incidence is (Refractive PIUT 1T BT g &, T 39 01 BT Aas AB W
index of prism =2 ) 3JAMA DIV AT B (U BT Mac=1H 2 ©)
A
u N
B c
(A)30°  (B)45°  (C)60° (D) 90° (A)30° (B)45° (C)60°  (D)90°
SPACE FOR ROUGH WORK
Piprali Road, Sikar -332001 (Rajasthan), Contact No. 8875023160, 9257086020 Page#1




K-SAT SAMPLE PAPER 2024

6.  The sun is visible to us about 2 minutes before the 6. I & faxol YI Iaa & T e ugel &1 g4 fadms o
actual sunrise, this phenomena is due to ofTell 1 I | W ST AT BRUT B —
(A) Dispersion (A) faergor
(B) Scattering of light (B) Uabrer T Gfepofe
(C) Reflection (C) e X r
(D) Atmospheric refraction (D) argATSeiTd 3Tac
7. A particle starts to move with velocity 10 m/s and 7. TSP t=0 W10m/s D T I HAT YR DT
acceleration -2 m/s? at t = 0, find its velocity after 4 2 | TAT SHHT R -2 m/s2 8, A1 t=4 sec W HUT BT
second in m/s. 9T m/s § AT IR —
(A8 B)6 ©o D)2 (A)8 B)6 ©o D)2
8. A particle starts to move with zero iitial velocity and 8. TP P Y URMD 9T P | YRW BT 8, T
acceleration 2 m/s2 then find the displacement travelled SHP] TRUT 2 m/s2 B, T T §RT t=2sec ¥ t=4 sec
(in m) by particle from t = 2 sec to t = 4 sec. % e qF foar a7 favenes (in m) ST &R —
(A) 16 B)4 O 12 (D) 10 (A) 16 (B)4 O 12 (D) 10
9.  Circumference of circular cross section of wire A is 9. U GiIY BIC &ABol dlef TR Al GRFEr &1 owrg Uep
equal to the perimeter of square shape cross section of IR PIC &AB dlel TR B & DIC &bl & GRATT
wire B. If the material and lengths of both wires are P WER T | AT SHI RN BT 9g1el 7 TS Th F9=
same, then ratio of resistance of A to B is g, I IR AT B & YR P U = HIfTY —
Arn:4 B)2:m OC4:m D)1l:= Ar:4 B)2:m O4d:m D)l:=m
10. A particle of mass m is moving with acceleration a 10. U®H HUT fSTHGT SaIHH m 3, 927 od 39 W F 91
when force applied on it is F. Now the same force is SITRIT ST ©, 7 SHPT <)l a B | Afe 314 IB 9ol b
applied tg a particle of mass 3m then what will be the T FUT FPT TR 3m e W TR 6T §1 @
acceleration of mass 3m. SHPI RUT Rl BT —
W B> ©= Oz 2 a a a
3 2 5 5 w3 ®; ©7 O3
11.  In the circuit given below, the voltmeter reads 30 V, 11. - &3 ™ aRuer | dfceHiey &1 uredia 30 Ve, al
then the resistance of the resistor R is AR R &7 YR ST el —
—O— O
i B |
2000 _‘gggﬂ 200 O _‘gggsz
{1 {1
60V 60
(A) 300 Q2 (B) 400 Q2 (A) 300 Q (B) 400 Q
(C) 600 Q (D) 1200 Q (C) 600 Q (D) 1200 Q
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12. 1In a bike race, bike A takes 2 seconds less than bike B 12. TP 95dh ¥ H 98P ATIS UR &) H 9186 B ¥ 2 sec
at the finishing line and passes the finishing line with FH I oId] &, T i WaT W IE D A BT T dI5d
a.velocr[y v more than the bike B. Assummg that the B & T < v REIT & et #1 9 A g 9 Y
bikes stgrt from rest and travel Wlth constaqt e XTI SIS, oI ST YT ST 5
accelerations 5 m/s2 and 4 m/s2 respectively, then v is
equal to s2TAT4 m/s2 &, T v &l A ST DY —

(A) 8 m/s (B) 8.5 m/s (A) 8 m/s (B) 8/5 m/s
(©) 45 mis (D) 4 m/s (C) 44/5 mis (D) 4 /s

13. In summer season, Ramesh feels hot in his room. He 13, I S & AH | WY DT ST TH 785G BT 7 |
turns on his air conditioner and he measures that the 39 fo a8 JUAT A.C. A1 PaT ©, AR a8 AUl ©
temperature of the room falls from (40.0 + 0.1)°C to f I®H HIN BT A9 (40.0 + 0.1)°C I fRPR (25.0
(25.0 + 0.1)°C. The decrement in temperature is + 0.1)°C B ST ©, a1 arode H ARTae S &l —
(A) 15°C (B) (15.0 4+ 0.1)°C (A) 15°C (B) (15.0 + 0.1)°C
(O A5.0 + 02)°)C (D) (65.0 + 0.2)°C (O 5.0 + 02)°C (D) (65.0 + 0.2)°C

14. A particle of mass 3 kg is moving in a circular part of 14. UH 3 kg GHHATT BT HUT 2 m/s & g 91 9 afas do
radius 5m with constant speed 2 m/s in a horizontal ¥ 5m fAream & qa § AR B BT R, @ BT W o
plane then find the net force applied on the particle. AT FeT T ST I —

(A)2N (B)24N (A)2ON (B) 2.4 N
©32N DN | (C)32N (D)5N

15. According to FIR in Dwarka pthe station, Dplhl, car 15. SR Yo R & @ FIR & 3R BR A T 38
A was at rest waiting for a red light at a crossing when IR RS B T @ % <1 oft | T R Y
it was hit by another identical car B from rear side. plizg Tt g L
Both cars had their hand breaks on, and from their skid P ¥ TE TP WRW PRBH PN T | ST PRI
marks it is surmised that they skidded together about 9 @ TS ?lEB g | o PRV TR Eﬁ a1 S PR
m in the original direction of travel before coming to fov™ & o & usdl 9 m I foRw H W BT W
rest. If coefficient of friction p is 0.8, then what must foreretcht &1 afe Hsd TR aor orids p=0.8 7, AT <y
have been the speed of car B just before the collision? @ T UBcl DR B BT T 1T bl ? (g =10 m/s2)

(g = 10 m/s?)
(A) 24 m/s (B) 12 m/s (A) 24 m/s (B) 12 m/s
(C) 48 m/s (D) 36 m/s (©48mfs , (D)36m/s

16. The potential energy function for a field force f is 16. T &7 H Reafdst St 7wt V =—Axy ¥ foar

given by V = —Axy, where A is a constant, then g, O1 39 & # 9of |Afeer | &7 7 91 BRI (IET A
e R B)

(A) F=A(xi+y)) B) F=A(yi+x)) (A F=A(xi+y) B F=A(yi+x))

O F=A(yi-x)) O F=Ai+y%) O F=A(yi-x)) O F=Ai+y%)

17. As shown in the figure, three forces are acting at a 17. foa ¥ fREN AR & R B @1 ey o)y w®
round object of radius R. The torque on the object about & I TR T R | AT 3 A W 39D € 0D
its centre O is (object is free to rotgte about an axis AT T ST ST BT (I G I e B e
passing through O perpendicular to its plane)

qAT 45 O ¥ [ORA arel 31&T & ATUel o & [ord
ER)
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(A) Zero (B) 3FR (A) Zero (B) 3FR
2F+F—\/§F R 2F+F—\/§F R
(C) 2FR (D) \/5 5 (C) 2FR (D) \/5 5

18. A block of mass m is moving with initial speed 10 m/ 18. TP m TN P b OTGHT YRS O 10 m/s T,
s on a rough surface having friction coefficient u = 0.2 T GREd) A fordT p=0.2 8 W IRY $xar g,
find the time after which the block will stop moving. RpaS T 91E 98 <fh ©F SR —

(A)t=2s (Byt=3s (A)t=2s (B)t=3s
©r=5s Yy B ) ©t=5s D)t=4s

19. A rope of length 21 and mass m is hanging from a rigid 19. T T R o 218 qe geEe m T o
support. The tension in the rope at a distance = from 1

3 Wﬁﬂtﬂ%gﬁ%lﬂiwf@wﬁgaﬁwﬁam
the rigid support will be
£1 SUPPO favg WX =T I BRI —
&) 5 ®) 228 2
— o m m
3 3 * = ®B) o
3 3
Smg mg
C) — D) — Sm m
© = (D) — © )

20. A block of mass m is placed on a plank of mass 2m i L
which is placed on smooth horizontal plane. If a 20. TF wif FTHDT G m s, Th ST Wich o]
horizontal force F is applied on the plank such that SR 2m 8 W AT T © | Wi (21l |ag U= @l
block and plank move together, then work done by the T 7| AfS T AfdW 91 F Wb R 39 YbR IRIT
friction force on the block in first two second of its ST & | T wdlfp @ Wiih fo=T el Ueb el ey
journey will be P B, AT B9 I §RT Al U 2R 2 sec H fhaT

AT B AT BRI —
2 2
2F 2 2
A) — B) — 2F
A om ® 3 (A) — (B) —
9m 3m
02 : D) Z 2F°
© Sm (D) Zero €) — (D) Zero
9m
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PART B - CHEMISTRY

21. The following equation represents calcination of lime 21. = il ofeesm aee & fdgaeT &7 <ol
stone : 3
CaC0,(s) == Ca0 (9 + €O, . CaCO,(s) === CaO (s) + CO,
The amount of quick lime (CaO) obtained by 100 ¢ Bfearm BEFe @ fged 4 9 (Ca0) &
calcination of 100 g of the lime stone 1s qET R —
(A)100g (B)50g (C)56g (D) 40g (A)100g (B)350g (C)56g (D) 40g
22.  Which of the following is a combination reaction ? 22, 9 W W BT Ue wATOH SmfhAT § —
(A) CaCO, +2HCl —>CaCl, + CO, +H,0 (A) CaCO, +2HCl —CaCl, + CO, + H,0
(B) N, +3H,— 2NH, (B) N, +3H,—> 2NH,
(C) 2KNO,— 2KNO, + O, (C) 2KNO,— 2KNO, + O,
(D) Zn +H,80, — ALO, +2Fe (D) Zn + H,80, —> ALO, + 2Fc
23. The reaction of water with ammonia is given by the 23. STl 9T IMIRRT & ey iR e aHieRr &
following equation, in this reaction water acts as IR & Ol ¥ 1 39 IfAfhAr H i fhadt avE
H,0 + NH, = NH} + OH" @EER Pl & H,O0 + NH, == NH; + OH
(A) neutral (B) base (A) S (B) &R
(C) acid (D) both acid and base (C) st (D) et d &R <
24. Neutrons are present in all atoms except e B
24, foas afaRad T ARl # I SuRer 81T 23—
D) N
(AHe — (B)C (©)H(D) Ne (A)He  (B)C (C) H(D) Ne
25. ;il)e iElectromc configuration of Cr (atomic number 25, Cr( FHIF 24) FT TSI AR ¥ -
2 2 6 2 6 2 3 4
G S W (A) 181, 25 2%, 3" 3, 457 3d"
(B) 1s?, 282 2p° 3s? ,3p°, 4s'.3d
2 942 Inb a2 Ind 2 it (B) 1s°, 25, 2p° 3s* 3p°, 4s' 3d°
(C) 1s?, 2s* 2p°, 3s* 3p°, 4s%4p :
(D) 1s?, 2s? 2pS, 3s? 3p5, 4s' 4p’ (O) 1s?, 2s* 2p°, 3s* 3p°, 45’ 4p
’ ’ ’ (D) 1s%, 2 2p°, 3s* 3p°, 4s' 4p°
26. The element with the highest first ionisation potential 26. ¥ T BT YoM 3 foprar waferes & —
is- (A) IR (B) 1
(A) Boron (B) Carbon (OEIEHSE! (D) 3=
(C) Nitrogen (D) Oxygen
27. Which clement is found in human body 27. 91 @ ¥ oW 9@ AMd IRR | 9T 9T § -
(A) Pb (B) Fe (O Cd (D) Al (A) Pb (B) Fe (O Cd (D) Al
28. Hydrogen bonding between water & ammonia is 28.  STol IT M= & 4 H-9%M & —
II{ H
| |
(A) H—(l) """ H —Il\I (B) H—Il\I """ H—O (A) H—O —H —N (B) H—N —H _(I)
| | |
H H H H H H H H
SPACE FOR ROUGH WORK
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H
(D) None of these

H

(©) H_Il\f_H ...... O—H (D) None of these
| |

H H H H
29. Boiling point of 29. FaAID v BT HH T —
CH,-CH-CH-NH, () CH,-CH -CH,-NH, (I)
CH,-CH -NH-CH,(D), CH,-CH,-NH-CH.(II),
0 T
CH,-N—-CH, (IIl) in order of- CH,-N-CH, (III)
(A)T> 11> 1 (B) T >1>TI (A)T> 11> 1 (B) 11>1>TII
O UI>1>11 OYm>1>1 O UI>1>11 OYm>1>1
30. How many sigma and pi bonds are present in tetra 30. SCTARIAT gensford ¥ fahae R eI uTs aver Suerd
cyanoethylene 3
(A) Nine © and nine 7 (A) o Td A n
(B) Fiven and ninec (B) Ui 7 el A o
(C)Nine o and sevenr (C) Ao Td A
(D) Eight ¢ andeight &t (D)%c@_&ﬂ‘o’n N N ;
31. Observe the following figure carefully, which is 31, faw fo Zm L &TUT_ ’ .El—a[oa% i
showing the initial conditions of the systems when all GRRIT (519 &4l aTeq 4 & T T3 0°C R &) a
valves are closed and system is at 0°C <grfar 8
Valve (2) Valve (3) Valve (2) Valve (3)
28 L / \ 224L 28 L / \ 224L
Valve (1) Valve (1)
Mercury Mercury
(d =13.6 gicc) (d =13.6 gicc)
If all valves are opened and system is allowed to come I il ITed @it {2 S © T2 9919 19 WR o &l
at equilibrium at same temperature, then calculate ATRY T R FT Tl 2, 9 FRieR &) < oqermait
difference in gas pressure between the two arms of : : :
. . H I @ TEl & AR (ARYATSH H) Bl ITUFET DI |
manometer (in atmosphere). Assuming the complete
ot of N (a4 HCL NH Cl(s). Neal e & NH,(g) + HCl(g) ——> NH,Cl(s) @1 qoi
reaction of NH,(g) + HCl(s) (CI(s). Neglect fAfshar g1 & o Seafed S Ud wRiioTe AT b
any volume of solid produced and connecting tube. - .
Assume that the manometer is sufficiently long and AT TV & | ATHICR G ST I Ul B
thin: [R = 0.082 atm L/mol K] [R =0.082 atm L/mol K]
(A)4(B) 8 (O D)1 (A)4(B)8 (O D)1
SPACE FOR ROUGH WORK
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32. The wave functions of 3s and 3p, orbitals are given by 32, 3sTAT 3p, HETDI B AR Waid (T §RT & O ©
12 3/2 2.2
¥, :L(Lj 2 [t A2
o3\ 4n a, a, 9 a 1 (1] [z} [ Azr 422r2} i
Y, =—+— — 6——F—— e
s s 93 4n a, a, 9 a
1 3 z 271 | 221 | i
P | = = 4 || == ° cosO 32
% 9\/§(47J [aOJ [ 3aJ[3aJe o8 13\ 2Y 2zr || 221 )
LP}F:—I — — 4—— || — |e"""™ cosBO
From these we can conclude : V34 \a 38, )\ 32
(A) Number of nodes for 3p_and 3s orbitals is equal 319 B i ey MaTer |ad B
(A) 3p,d 3s dheTehl H IS8T B HEAT AHH BIehl ©
(B) The angular nodal surface of 3p_orbirtal has the (B) 3p, Feih & DT ST Y bl FHDRIT O =10
equation 6 = 1 BT
(C) The radial nodal surface of 3s orbiral and 3p, orbital (C) 3s Be1d @ 3p, deish o Frodia M o Tifdads &
are at equal distance from the nucleus SEISACA q—\igﬁ g _ .
(D) 3s electron have less penetrating power into the (D) 3s SAIaETT 1 TIfieh H HeT & 3p Folag v |
nucleus in comparison to 3p electrons i gﬁ?ﬁ d
33. Which one of the following dibasic acids on strong 33. o & & @Me faeRar 3w BT el TH v
heating gives CO,, CO and HOH W CO,, CO 2m HOH Tal T —
(A) Formic acid (B) Oxalic acid (C) Malonic acid (A) wiff® e (B) affauifad 3 (C) Heli®
(D) Succinic acid e (D) RiI® 3r
34. The cqmpognd which give; the. most stable 34. O § W P Aife Fsifoee ) waifie s
carbonium ion on dehydration is: SIS ama ST -
A _CH-
(A) CH, |CH CH,OH (A) CH3—(|:H—CH20H
CH; CH,
?H3 CH,
- |
(B) CH,=¢-OH ) CH,-C-OH
CH, CH,
(C) CH,~-CH,~CH,-CH,0OH (C) CH,-CH,-CH,-CH,OH
EH OH
(D) CHy-CH-CH,-CH, (D) CH3—éH—CH2—CH3
35. In the following reaction, 35 P st &
QW
N conc. HNO, ©\
H conc.H,SO, conc HNO,
conc. HZSO 4
SPACE FOR ROUGH WORK
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36.

37.

The structure of the major product X is

S
NO
(A) NJ‘\O )
H
O.N
2 0
N
H
QB
C N
e as
NO,
S
(D) O,N NJ\©
H

The TUPAC name of the given compound

CH, — CH—|C:CH—CH3 is -
OH CH,

(A) 1,2-Dimethyl-2-butenol

(B) 2,3-Dimethyl-3-pentenol

(C) 3,4-Dimethyl-2-buten-4-ol

(D) 3-Methyl-3-penten-2-ol

Two flasks of equal volume are connected by anarrow
tube (of negligible volume) all at 27°C and contain
0.70 moles of H, at 0.5 atm. One of the flask is then
mmmersed into a bath kept at 127°C, while the other
remains at 27°C. The number of moles of H, in flask 1
and flask 2 are :

(A) Moles in flask 1 = 0.4, Moles in flask 2 = 0.3
(B) Moles in flask 1 = 0.2, Moles in flask 2 = 0.3

36.

37.

I ITE X bl WATr 8 —

QW
NO
) NJ\@( )
H
O.N
2 0
N
H
S
C N
e R
NO,
S
(D) O,N NJ\©
H

CH,— CH—C=CH—CH, 3aifra &7
OH CH,
[UPAC iF © —

(A) 1,2-Dimethyl-2-butenol

(B) 2,3-Dimethyl-3-pentenol

(C) 3,4-Dimethyl-2-buten-4-ol

(D) 3-Methyl-3-penten-2-ol

HHM AT & &I Ul I 27°C W b Hax <Jd
(U AT D) B GRT SATST ST & T27 I8 0.5 atm
W H,® 0.70 91l ¥ I&I &1 379 A (P U Bl
127°C R 9121 € | @1 ST 8, STaid ga &l 27°C
R YT ST © 7 9T Gep 2T ursf &1 § H, & Arel ol
e grfl:

(A)UF 1S AT =04, 95 2 & HAidd =0.3

B)UF 1 & Ald =02, 95 2 & At =0.3

SPACE FOR ROUGH WORK
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38.

39.

40.

(C) Moles in flask 1 = 0.3, Moles in flask 2 = 0.2
(D) Moles in flask 1 = 0.4, Moles in flask 2 = 0.2
One mole of an ideal monoatomic gas expanded
irreversibly in two stage expansion.

State-1 (8.0 bar, 4.0 litre, 300 K)
State-2 (2.0 bar, 16 litre, 300 K)
State-3 (1.0 bar, 32 litre, 300 K)

Total heat absorbed by the gas in the process is :
(A)1161] B)40J
(C) 4000 J (D) None of these
A gas 1s expanded from volume V to 4V by follow-
ing two ways : (from same initial state)
(a) I using reversible isothermal expansion from V
to 2V, then using reversible adiabatic expansion from
2V, to 4V, .
(b) I'" using reversible adiabatic expansion from V, to
2V, then from 2V to 4V using reversible isothermal
expansion.
Then which of following are correct :
(A) Work done in (a) process > work done in (b)
process
(B) Work done in (b) process > work done in (a) pro-
cess
(C) Work done in (b) process = work done in (a) pro-
cess
(D) cannot be predicted
An aromatic compound 'A" C;H,Cl,, gives AgCl on
bonding with alcoholic AgNO; solution, and yields
C,H,OCl on treatment with sodium hydroxide. ‘A’ on
oxidation gives a mono chlorobenzoic acid which
affords only one mononitro derivative. The compound
Ais:

CH,CI

CH,CI

(A) (B)
Ol cl

CH,CI

cl CH,CI
© (D)

38.

39.

40.

OUuF 1 A =03,95 2 & Alcd=0.2

D)UH 1D AT =04, 9 2 B AT =0.2

Tdhel URATUTAY 3rTeRl 39 & TP Al T AR
IIIEHHUIT TR ¥ &T Y&l H garm

arawer-1 (8.0 bar, 4.0 litre, 300 K)
w2 (2.0 bar, 16 litre, 300 K)
arawer-3 (1.0 bar, 32 litre, 300 K)

UhH H T B §RT AT ST 8|

(A) 1167 (B)40J

(C) 4000 J (D) 3 ¥ BT 7Tal

T T T FHT &1 el 9 S(RIc V¥ 4V, deb gamia
fopar T T (W URMAS 3raveT )
(@I 3V, ¥ 2V dh Schulld FHdd JdR Bl
SUART fbar ar o fhr 2V, | 4V, dd SchHuia
WA TR BT SUANT fhar ST 2 |
(b)I*H V, ¥ 2V, b SchHUild HE IS TR BT SUAN
fépar rar qerm e 2V, ¥ 4V, db SehHvia wHATd
UHR $T SUANT BT =T |
9 1 % & BT U A8 B
(A) UhH (a) | a1 =T SR > Ud (b) H s
Ean|
(B) UshA (b) H fam =T SR > UhH (a) H o
Ean
(C) 9hd (b) # fovar a1 B =UehA (a) ® fdam T
B
(D) uRafera =gt fam ST Adhar 2|
T WHfeH Al 'A'C,H,CL, Veblgifers AgNO, ¥
=T 999 TR AgCl <dT ©, iR WIfead gsgiaass &
T PR bR R C,H,OCL<dl & | Sifaiieror R
'A' Th HFI FARIGGISEH FT <l © ol ddd Ud
AMMISST o <aT 2 | AfE AT

CH,CI

CH,CI

(A) (B)
Ol cl

CH,CI

cl CH,CI
© (D)
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PART C - BIOLOGY

41. Which kingdom comprises organisms capable of 41. DI A SRIT & ST YTl Gy § Tey & qef
photosynthesis and possesses cell walls made of HIfTw R SIS GIN ¥ 9T g
cellulose?
(A) Monera (B) Protista (A) AIFRT (B) UIEIRET
(C) Fungi (D) Plantae (C)Padm (D)UTY ST
42, What is the primary purpose of the phylogenetic 42 PIERISRIET PT BT e 33T | —
tree?
(A) To show evolutionary relationships among (AyShdl & weg e deel &l <9 @ forg |
organisms
(B) To classify organisms into kingdoms (B) Sigai &7 MY AT BT |
(C) To determine the age of fossils (©) STt @1 = a3 oRffeso
(D) To illustrate the food chain (D) TT T Bl AR &3 B
43, What defining feature distinguishes the kingdom 43 DA 9 fafdree fa9ydr ddad S Td &l g B
Fungi? =l
(A) Ability to perform photosynthesis (A) UPT HICIYUT HU PR Bl &
(B) Cell walls made of chitin (B) @rsfed ¥ ffia @ifdrer MRy
(C) Motility using cilia (C) GeHTRID b1 ST | T
(D) Presence of chlorophyll (D) uvfeRa @1 sufkerfa |
44, In which domain would you categorize an organism 44 3T 39 oig @) fow &l & w9 o 1 =4t
that survives in extremely harsh environments like Y 31T HoR IIdTaNvl | Sifad YgdT 2|
hot springs?
(A) Bacteria (B) Archaca (A) STy (B)arTasar
(C) Eukarya (D) Protista (©) ?}\?ﬁﬁ?ﬂ (D) Tﬁw
45. What term refers to the classification of organisms 45, el & SIS RIBTAD Tali & 3R o aeil
based on their evolutionary relationships? PI fopg v & Geffg fpar oimar 2—
(A) Taxonomy (B) Phylogeny (A) TiTepRoT (B) ®IgelIor
(C) Morphology (D) Ecology (C) a8 3AThIRBT (D) uriRRerferedy
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46.  In the majority of the dicotyledonous plants, the | 46.  3If¥dar fgdIoUl ureul H JITHR W gaee
direct elongation of the radicle leads to the formation Heedwy AT BT B
of
(A) Primary root (A) UTIfies Hel bl
(B) Secondary root B) fe<as T BT
(C) Tertiary root (©) q_cﬁ'é]—cﬁ T B
(D) None of the above (D) SWRIad & A PIg T8
47. The cells of this region are very small, thin-walled 47. e 83 1 PIfRe scae e, el ARY
and with dense protoplasm. They divide repeatedly. qrell e Saged gad 8, a7 eaR fawTe
@1 febam geriell 8—
(A) Region of meristematic (A) frai T &=
(B) Region of elongation (B) Srefiamxur e
(C) Root cap (C) T g
(D) Region of maturation (D) uRuda+ &=
48. Which one is the green expanded part of the leaf 48. 1 9 9 aRT @1 ®IF A1 9RT SATd dret sRd
with veins and veinlets arfe=il, Al o B
(A) Lamina (B) Leaf blade (A) BAD (B) il =iS
(C) None of the above (D) Both and b (C) SWRIGd § | ®Is T8I (D) aqAT b &I
49, The pattern of arrangement of leaves on the stem 49. T R YR B AT BT HH HEldl o
or branch. (A) Rrifa=ma (B) qSIsHA
(A) Venation (B) Inflorescence (C) gvifa=ara (D) SR H PIS T8 |
(C) Phyllotaxy (D) None of the above 50. Prearaefad gree B SUINT e gscﬁ g—ﬂ o
50. Actinomorphic is the term used for flowers with ST B
(A) Bilateral symmetry ~ (B) Radial symmetry (A) fgaatafa (B) 3R wHfAfey
(C) Irregular (D) Oval (C) e (D) 3V
51. Which of the following organisms are known as 51 =T 5 | 319 ¥ Sid |98 /AR 4 4% IATed
chief producers in the oceans? BB i
(A) Cyanobacteria (B) Diatoms (A) ST ERRaT (B) STITH
(C) Dinoflagellates (D) Euglenoids © @S:ﬁqaﬁﬁt_\q (D)?}jﬁﬂﬁ@‘\q
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52. In which kingdom would you classify the archaca 52. Ffe affdmor o gia ST gomedt &1 SuAnT fhar
and nitrogen-fixing organisms, if the five-kingdom ST €1 3y 3nfdha qoIT AISg o™ ﬁ&é\ldgd G|
system of classification is used? qret il @ fod o | Q*ﬁdgcl BT |
(A) Plantae (B) Fungi (A) Ureyq (B) ®dd
(C) Protista (D) Monera (C) wifewr (D) HIFRT

53. In the five kingdom system of classification, which 53. TATHROT DI Ud ST A (=0T Goledl # 1 §
single kingdom out of the following can include blue- b Ueb GV @ STV ~H1el —8 IR LTl Aggror
-green algae, nitrogen fixing bacteria and Rerfiepat Sfiaryy qem Mesife s o) @
methanogenic archaebacteria? faferd dr
(A) Plantac (B) Protista (A) UTY (B) wfewer
(C) Monera (D) Fungi (C) AT (D) ®dP

54. In the light of recent classification of living 54. SHIfId Sidl @ Siiad @ 9 AT (Sirarog 3nfds,
organisms into three domains of life (bacteria, 3R ?}\—Cﬁﬁ?ﬂ) H BT & TABRUT & =T AMfhaT
archaea and eukarya), which one of the following @ R ¥ AT 7 & DI A1 ded U g
statements in true about archaca?

(A)Archaea completely differ from both prokaryotes (A) 3NfHAT YIbRATCH 3R J dRATGCH gHT |
and cukaryotes. quid : T B |

(B) Archaca completely differ from prokaryotes. (B) M1 U RATCH H LI a8 A+ © |

(C) Archaca resemble eukarya in all respects. (C) 3nfhar T UhR | q\mﬁul 3 fAerd SeTd =
(D) Archaea have some novel features that are absent (D) b H @B A4 faRwy & ©f 3
in other prokaryotes and cukaryotes. U I e q\dol(QuICﬁi # SHQ’\E@—CT =l

55. During replication of a bacterial chromosome, DNA 35. Gﬁ'tngl?ﬁ'ﬂ OGN B gfAPHIUT & SR DNA BT
synthesis starts from a replication origin site and LENRLY HI?IGQI?I D SEULRSK A YR BIAT &

AT
(A) RNA primers are involved (A) RNA UTg*R afeferd & |
(B) is facilitated by telomerase (B) CATARST GIRT 1A ST SNl & |
(C) moves in one direction of the site (C) el &l U fem 4 Fefell B |
(D) moves in bi-directional way (D) feg—feremmeer Ties & Trefam 2 |
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56. Escherichia coli 1s used extensively in biological 56. S HIAE @ Slfdd SENEIE D & § AP KR
research as it is R UGN Thar Srar & iifeh—
(A) easily cultured (A) T O Hafefa fdbar S dadr © |
(B) casily available (B) 3T ¥ U & |
(C) ecasy to handle (C) AT | FATAT ST HHhaT B |
(D) easily multiplied in host (D) UIYT DIRIBT ¥ ATA IO
57. Choose the correct sequence of stages of growth 57. Gﬁ—dTCj; D e H Eﬂ% ash &1 faff=1 sravemsn @
curve for bacteria. NEELED qﬁv—
(A) Lag, log, stationary, decline phase (A) o1, i1, ReR, RRTae sraver |
(B) Lag, log, decline, stationary phase (B) <1, @1, fiRTae, Rer araRer |
(C) Stationary, lag, log, decline phase (C) RerR, <1, fv, RRTae sraver |
(D) Decline, lag, log phase, stationary (D) RRTaE, o, @i, ReR arawer |
58. Viruses possess 58. faumogart | uram SIar 5
(A) ribosomes to synthesize protein (A) UICTH HeTelyor %@ S dEH
(B) organelle for its vital mechanism (B) ‘ﬁ?ﬂ}ﬂ( GE] %@ DIRTHRT
(C) cither DNA or RNA (C) DNAITRNA
(D) none of these (D) SWRIdd § ¥ ®Ig 7ol
59. Viruses that infect bacteria multiply and cause their 59. Qe ST SiETY] &l Hep AT B & Tl D!
lysis, are called A& | gfE R § 9 SHer fdged ad B,
DHEAT B—
(A) lysozymes (A) CTEHISITEH
(B) lipolytic (B) ferarensfea
(O) Iytic (C) asfed
(D) lysogenic (D) eTgATSI D
60. The word Chordata gets its origin from 60. HYIODT AT BISCT ¥ B AT Bl & §_5; &?
(A) Greek (B) Latin (A) M (B) cifes
(C) Arab (D) Sanskrit (C) 34 (D) H¥Rd
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61. Salamander is an example of 61. HATHEY IETENT o—
(A) Reptile (B) Osteichthytes (A) wgy (B) 3ty
(C) Amphibians (D) Mammals (C) ST (D) &Y
62. Scutes are also called as _ 62. TheH Pl BBl STl o—
(A) Wings (B) Scales (A) Ug (B) axIy],
(C) Gills (D) Glands (C) ey (D) ufr=r
63. What does the word homoiothermous refer to? 63. RIS TTeq fhed Aeferd o—
(A) Lie in the same temperature (A) U B A9 U= I8+ ardl
(B) Warm blooded animals (B) ey g
(C) The animal is in thermal equilibrium with its (C) JTH—UTH & TTATARYT & 1T SHI HeTd H
surrounding SuRerd g
(D) The animal lives in isotonic conditions (D) FHIRRRI Rerfar # w8+ arel S
64. Mammals are the milk feeding animals. 64. RPN E) Y= aret oI 5
(A) True (A) 99
(B) False (B) 38
65. Which among the following is an incorrect interesting 65. FMfeTRad e doal # | diar q2a vefl o
fact about Aves? %@ TeTd &—
(A) Their bones are hollow and help them to fly (A) 3Rt WRICAT UTE ST @ oI S+ H HERI
BT B |
(B) Air sacs are sites of gas exchange in Avian (B) T$+1 dret STAINAR # qarg IR i fafa @
Dinosaurs I B
(C) Humming bird is the smallest bird (C) BT 9 \ad BieT Wl & |
(D) Ostrich and penguins are few birds that can’t D) mﬂﬁﬂ”( AT WS BB T Tefl B, S S e
fly Hp |
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66. Which among the following is incorrect about 66. frferRad # & wa=eniRal & aR # a7 Ted o—
mammals?
A) African elephant is the largest mammal on the A) 3BT BrfY qgj;ﬁ R IuRed ey g WU
Earth gl
(B) Mammalia derives its origin from Latin word (B) FHferar vrsg @7 Scufar offesT vrsg A7T g—g
Mamma which means breast t ot a1 2= W+
(C) Mammals have hair or fur and are warm-blooded (C) WIFEIRY 3 AT B e raaandt 2
(D) The necessary condition for being a mammal is (D) WU 89 @ forv smaedds Ii— 31a+ o
to give birth to their young ones T ONT IO~ BT |
67. Which plant tissue is responsible for lateral growth 67. ureul ¥ ursdg gﬁ&r g7 drsrs | gﬁ&r gg IAE
or increase in girth? IdD ©—
(A) Epidermis (B) Xylem (A) 3rfdras (B) Dfea (Ten)
(C) Cambium (D) Parenchyma (OSSIESE! (D) aﬁﬂzﬁ
68. Which of the following is NOT a type of simple 68. eyt ¥ 9 O 9 B9 91 9 1S SAd ol
permanent tissue in plants? =
(A) Parenchyma (B) Collenchyma (A) aﬁﬂ—cﬁ (B) Q%]\?'I—CFTUT SIb
(C) Sclerenchyma (D) Meristematic tissue (©) gaﬁﬂzﬁ (D) f TP SIh
69. What type of cells make up the majority of the plant's 69. =1 & 9 o W PIften sifdedyd ¥R SIdb
ground tissue and are involved in photosynthesis BT TS0 Bl & TAT UBTI FITAN d YN &
and storage of nutrients? Hood | ) aftaferg 2—
(A) Collenchyma cells (B) Sclerenchyma cells (A) RIADIT PRGN (B) SLAREZ ALY
(C) Parenchyma cells (C) Xylem cells (C) P BIRIBIY (C) STTSer¥ BIFRBIY
70. What is the main function of the cork cambium 70. PTOY UTSUl 4 Bip drTIH CRINE Ry
(phellogen) in woody plants? PR —
(A) Photosynthesis (B) Transpiration (A) UBTT HITeTyor (B) arIcdoiA
(C) Protection and insulation(D) transport (C)YReT AT ATURIEdhar (D) URas
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71.  Hypodermis comprise which types of cells? 71. EsUS # e yoR @ SIfGN 98 o)
B—
(A) Few layers of collenchymatous cells (A) AP PIRGRIT B HB A |
(B) Few layers of parenchymatous cells (B) §<I=cTch BIRTDIAT BT BB IR
(C) Few layers of sclerenchymatous cells (C) GaITdh DIADGIAT B HB WA
(D) None of the above (D) SWRIad 4 9 Bl o1 |
72. Mesophyll comprise which types of cells? 72. qUHEATIe b bR b1 DIRMbral | ey
CEIRY
(A) Collenchyma cells (B) Parenchyma cells (A) RIATHIG BIRGI (B) JI=idh BIRIDHIY
(C) Sclerenchyma cells (D) None of the above (C) goI~<Idh BRI (D) T4 H W DIs T8 |
73. Which cells are responsible for the curling of leaves? 73. aRral @ ﬁ @ fory STReRl DIty 8 |-
(A) Epidermal cells (B) Mesodermal cells (A) 3T DIy (B) wewdH DIy
(C) Bulliform cells (D) All of the following (C) Srfermr BB (D) SURTaT T4y
74. present on the inner side of the T4 3T T @ IR AT IR TAT Gl @
endodermis and above the phloem in the form of SN m @ FH—THIDR G D HY H SyRerT
semi-lunar patches of sclerenchyma. W B -
(A) Starch sheath (A) XY JATROT
(B) Cortical layer (B) diféde uRa
(C) Pith (C) fa
(D) Pericycle (D) ufRxer
75. Which of the following characteristics is unique to 73. 7T % | @i A faRiyer arqu o @ fafre
the Kingdom Plantac? fagroar &—
(A) Photosynthesis (A) UDTI HTAYOT
(B) Heterotrophy (B) fasaTsemar
(C) Cell walls made of chitin (C) DRt fafer (wrsfest & ffida)
(D) Presence of mitochondria (D) dfgel Difgar &1 Iufkerdy |
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76. Which of the following is not a characteristic of 76. 9 9§ 9 DIF A1 TV ITAThISCd | HafRd 5

Bryophytes? (A) GaB-II IAD D SUHATT |

(A) Presence of vascular tissue (B) T @Tﬁg{’h—c{ TRT

(B) Dominant gametophyte phase (C) I ¥ AT YRT BT U |

(C) No true leaves or roots (D) LG gg Sicl &7 3Maeddhdr |

(D) Require water for fertilization 77 1 # 9 39 A1 e SRSwEcy ¥ daferd
77. Which of the following is not a characteristic of T

Pteridophytes? (A) FaB-II IAD & SUHAT

(A) Presence of vascular tissue (B) T gﬁvnm—c{

(B) Dominant sporophyte phase (C) I ¥, TT TAT Uil B IuHAT

(C) True roots, stems, and leaves (D) §ISll @ §RT S

(D) Reproduction by seeds 78 =1 # 9 Fegadiol ureul faeryar &
78. Which of the following 1s a characteristic of

Gymnosperms? (A) W SRT S

(A) Reproduction by flowers (B) Bl 3T STHIRT

(B) Presence of fruit (C) 3TTSTeT ¥ it Sﬁq—\ﬂf@{—d

(C) Seeds not enclosed in an ovary (D) fa g—ﬂ BT T &1 ATIIHAT

(D) Water required for fertilization 79 N & SIS greut @) fRrevdr 8-
79. Which of the following is a characteristic of (A) sl“l\ﬂllgdﬁ SR O

Angiosperms? (B) arverey #F & 5

(A) Reproduction by spores (©) we B STy

(B) Seeds not enclosed in an ovary (D) Haet S 2

(C) Presence of fruit

(D) No vascular tissue 20, B 3 A BN W UTeT S99 T S
80. Which of the following is not a type of plant tissue? (A) st T (B) Hasha 9w

(A) Epidermal tissue (B) Ground tissue (C) ¥R (D) T S

(C) Vascular tissue (D) Nervous tissue
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